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1. Find the area of a triangle with sides 13 cm,

14 cm,and 15 cm.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lDTa7bDK4NJa

° Watch Video Solution

2.Find the area of a rhombus of perimeters 60

cm and one of its diagonals is 24 cm .

o Watch Video Solution

3. Find the area of an equilateral triangle of

side 8 cm..

° Watch Video Solution



https://dl.doubtnut.com/l/_lDTa7bDK4NJa
https://dl.doubtnut.com/l/_x6zqHXxCRQvL
https://dl.doubtnut.com/l/_ZRBRFpfGe1TB
https://dl.doubtnut.com/l/_0imVX9I6GUKC

4. Find the area of an isosceles triangle of

sides 10cm,10 cm, and 12 cm..

o Watch Video Solution

5.The area of a right triangle is 28cm? . One of
its perpendicular sides exceeds the other by 10
cm . Find the longest of the perpendicular

sides .

° Watch Video Solution



https://dl.doubtnut.com/l/_0imVX9I6GUKC
https://dl.doubtnut.com/l/_UAirTYdLyi6b
https://dl.doubtnut.com/l/_wItNfzSpIhtj

6. In the given figure, ABCD is a rectangle;
E and F' are the mid-points of the sides
BC and CD respectively. What is the ratio of

the area of AAEF and that of AECE'?

° Watch Video Solution

7. A circular track runs around a circular park .
If the difference between the circumference of
the track and the park is 66 cm , then find the

width of the track.

° Watch Video Solution



https://dl.doubtnut.com/l/_wItNfzSpIhtj
https://dl.doubtnut.com/l/_jnckOi35pSy8

8. From a rectangular metal sheet of length 11
cm and breadth 8 cm , three circular plates of
radii 3 cm,2 cm,and 1 cm are cut . The area of
the remaining part is (incm2) equal to the

area of a circle , then the area of the circle is (

o Watch Video Solution

9.Find the area of a sector of a circle of angle

60° , the radius of the circle being 7 cm .


https://dl.doubtnut.com/l/_jnckOi35pSy8
https://dl.doubtnut.com/l/_iefoXQClUmaH
https://dl.doubtnut.com/l/_BZwX7DYwdfez

° Watch Video Solution

10. The volume of a cuboid is 64cm® . The
length ,breadth , and height have integral
values in cm . Find the minimum possible
lateral surface area of the cuboid if the

breadth is not less than its height ( incmz).

° Watch Video Solution



https://dl.doubtnut.com/l/_BZwX7DYwdfez
https://dl.doubtnut.com/l/_JIvviWmYrPbF

11. The dimensions of a cuboid are 15¢cm x 12

cm X 10 cm . What is its total surface area ?

° Watch Video Solution

12. Find the sum of the lengths of the edges of
a prism whose base is an equilateral triangle

of side 6 cm and height 8 cm .

° Watch Video Solution



https://dl.doubtnut.com/l/_pBIzOlxJPV2r
https://dl.doubtnut.com/l/_IKqbt02jaCBu

13. The base of a prism is a square of side 10
cm . Find the T.S.A of the prism , if height is 12

cm.

o Watch Video Solution

14. Find the total surface area of a cube whose

diagonal is of length 4,/3 cm .

° Watch Video Solution



https://dl.doubtnut.com/l/_fW8WkAxNbEuw
https://dl.doubtnut.com/l/_pUhXZSZMRMw8

15. The radius of the base and the height of a
cylinder are 14cm and 20cm , respectively
What is the volume of the cylinder ?

A. 12380cm’

B. 12350cm®

C. 13220cm?

D. 12320cm?®

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QnDD6WjZu3Zk

16. The radius of the base of a cone is 14 cm
and its height is 48 cm . What is the curved

surface area of the cone ?

o Watch Video Solution

17. The cost of canvas required to make the
conical tent of base radius 7 m, at the rate Rs.8

per m? is Rs.4400. Find the height of the tent

o Watch Video Solution



https://dl.doubtnut.com/l/_BXA8aEYuqBmP
https://dl.doubtnut.com/l/_Kp54qTzdN4zs
https://dl.doubtnut.com/l/_wMdxgTUvV8YV

18. A sphere of radius 3 cm is drawn into a wire
of thickness of 0.5 cm . What is the length of

the wire ?

o Watch Video Solution

19. A conical cup when filled with ice - cream
forms a hemispherical shape on its open end .
Find the approximate volume of the ice -
cream ,if the radius of the base of the cone is
3.5 cm and the vertical height of the cone is

Tcm.


https://dl.doubtnut.com/l/_wMdxgTUvV8YV
https://dl.doubtnut.com/l/_otKcuOaxGvht

A. 213em?®

B. 190cm?®

C. 180cm?

D. 165cm?

Answer: C

o Watch Video Solution

20. A solid metallic cone of diameters 32 cm

and height 9 cm is melted and made into


https://dl.doubtnut.com/l/_otKcuOaxGvht
https://dl.doubtnut.com/l/_GxsfSOkP0aua

identical spheres each of radius 2 cm . How

many such spheres can be made ?

A. 32

B. 42

C. 72

D. 62

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GxsfSOkP0aua

21. Find the total surface area of a

hemispherical bowl of radius 5 cm .

° Watch Video Solution

22.The outer radius of a spherical container is
5 cm and the thickness of the container is 2
cm . Find the volume of the metal content of

the shell .

o Watch Video Solution



https://dl.doubtnut.com/l/_2WioR5qC0Asm
https://dl.doubtnut.com/l/_7FSepSl1UtiK

Test Your Concepts Very Short Answer Type

Questions

1. 1. In a right angled triangle ABC, AB = AC.

Thena:b:cis

o Watch Video Solution

2. The area of an isosceles right - angled

triangle is 72 ¢m? Find its hypotenuse .

o Watch Video Solution



https://dl.doubtnut.com/l/_yJAdNGAuNIsa
https://dl.doubtnut.com/l/_mlJuGy9SZHLQ

3. The height of an equilateral triangle is /3 a

units . Then , its side is units .

° Watch Video Solution

4. The ratio of the base and the height of a
triangle is 3: 2 and its area is 108cm? Find the

length of its base and its height .

° Watch Video Solution



https://dl.doubtnut.com/l/_UlLAeWf8zw1h
https://dl.doubtnut.com/l/_rZzyxSJKBP9Z

5. What is the length of the altitude of an

equilateral triangle having 144 cm as its side ?

° Watch Video Solution

6. Find the area of quadrilateral ABCD whose
diagonal AC is 10 cm long and the lengths of
perpendicular drawn from the vertices B and D

on AC are 4 cm and 3 cm, respectively .

o Watch Video Solution



https://dl.doubtnut.com/l/_q0fVhhcFLcJG
https://dl.doubtnut.com/l/_zQDudg62rQRd
https://dl.doubtnut.com/l/_T9X7wnngMg1S

7. The diagonal of a square is 'a' units .Then ,

the area of the square is square units .

° Watch Video Solution

8. A rectangular grassy plot of length 6 m and
width 4 m has a gravel path of width 1 m all
around it and inside . Find the cost of

gravelling the path at 80 paise per m?

o Watch Video Solution



https://dl.doubtnut.com/l/_T9X7wnngMg1S
https://dl.doubtnut.com/l/_Z6LRsnzpNWXJ
https://dl.doubtnut.com/l/_vbmFYbLVn7Bv

9. The area of a square field is 36m? . How long
would it take for a bird to cross it diagonally

flying at the rate of 304/2 m/min ?

o Watch Video Solution

10. If the perimeter of a rectangular is equal to
the perimeter of a parallelogram , then the
area of the rectangle is more than that of the

parallelogram .

o Watch Video Solution



https://dl.doubtnut.com/l/_vbmFYbLVn7Bv
https://dl.doubtnut.com/l/_OsgQr7kf6LBj
https://dl.doubtnut.com/l/_Yc8ZHYJVNngt

11. The diameter of a semi -circle is 20 cm .
What is the area of the semi - circular region

in terms of 7 ?

° Watch Video Solution

12. Find the volume of a rectangular box
having a length of 5 m, width of 3 m , and

height of 4 m..

° Watch Video Solution



https://dl.doubtnut.com/l/_Yc8ZHYJVNngt
https://dl.doubtnut.com/l/_fEOGbPBHpDIL
https://dl.doubtnut.com/l/_75YnGULGcf0I

13. The area of a trapezium is 72cm? and its
height is 12 cm . If one of the parallel sides is
longer than the other by 2 cm , then find the

length of the two parallel sides .

o Watch Video Solution

14. Find the area of the polygen PQRST given

below .


https://dl.doubtnut.com/l/_75YnGULGcf0I
https://dl.doubtnut.com/l/_QWCVJsdvFNGz
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Given,PQ =6cm,QR =18 cm,and RT =10 cm .

/PQR = /QPS = /PST = 90°

o Watch Video Solution



https://dl.doubtnut.com/l/_QWCVJsdvFNGz

15. A wire of length | units is bent to form a

circle . The radius of the circle so formed is

o Watch Video Solution

16. The outer radius of a ring is (x + 2y) cm and
the width is (x + y) cm. What is the area of the

ring?

o Watch Video Solution



https://dl.doubtnut.com/l/_aJYDxARC4nPy
https://dl.doubtnut.com/l/_VGZxQpCzxTbd
https://dl.doubtnut.com/l/_s1TdCcrfLE4l

17. The total surface area of a cone of radius 3

cm and height 4 cm is

o Watch Video Solution

18. Find the radius of a sphere whose surface

area is 616 cm>.

o Watch Video Solution



https://dl.doubtnut.com/l/_s1TdCcrfLE4l
https://dl.doubtnut.com/l/_1OJTzeqtlO3X

19. The inner curved surface area of a hollow
hemispherical bowl of external radius 14 cm

and thickness 2 cm is

o Watch Video Solution

20. The sum of the lengths of the edges of an
octagonal prism with base 4 cm and height 5

cm is

o Watch Video Solution



https://dl.doubtnut.com/l/_yNFlA4NjwjcS
https://dl.doubtnut.com/l/_B8dfHvz5dn4S
https://dl.doubtnut.com/l/_kgZNosnFQSKS

21. The perimeter of a sector of angle 90° ,

whose radius is 44 cm , is

o Watch Video Solution

22. The area of the base of a right circular
prism is 50cm? and its height is 8 cm . What is

its volume ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kgZNosnFQSKS
https://dl.doubtnut.com/l/_NZ9HQYZKIuKU

23.In a rectangle , the sum of the length and
breadth is 'a'" units . The perimeter of the

rectangle is

o Watch Video Solution

24. The area of a parallelogram is 'x' sq.units .
The base of the parallelogram is 'b' units, then
the height of the parallelogram corresponding

to side'b'is units .

° Watch Video Solution



https://dl.doubtnut.com/l/_aZQ7o9mUhqNl
https://dl.doubtnut.com/l/_LqSpYBMoLEuq

25.1n a quadrilateral ABCD , AB =5 cm ,BC =37
cm,CD=35cm,BD=12cm,and AD=13 cm .

Find its area..

o View Text Solution

26. A verandah 15 m long and 12 m broad is to
be paved with tiles each measuring 500 cm X

300 cm . Find the number of tiles needed .

A.13


https://dl.doubtnut.com/l/_LqSpYBMoLEuq
https://dl.doubtnut.com/l/_5YFDdTidE76n
https://dl.doubtnut.com/l/_e0naRbhK3306

B. 17

C.15

D. 12

Answer: D

o Watch Video Solution

27. The perimeter of a semi -circular region is

144em. What is its area ?

A. 1222cm?


https://dl.doubtnut.com/l/_e0naRbhK3306
https://dl.doubtnut.com/l/_dUaQPorvJPhP

B. 1234cm?

C. 1122cm?

D. 1232cm?

Answer: D

o Watch Video Solution

28. A hall is 12 m long and 5 m wide . If the
height of the hall is 10 m , then find the

surface area of the walls of the hall .

I o Watch Video Solution


https://dl.doubtnut.com/l/_dUaQPorvJPhP
https://dl.doubtnut.com/l/_hvB1oCAL3zWq

29. A spherical piece of metal of diameter 6 cm
is drawn into a wire of 4 mm in diameter. Find

the length of the wire.

o Watch Video Solution



https://dl.doubtnut.com/l/_hvB1oCAL3zWq
https://dl.doubtnut.com/l/_NUjOHVSXKvz8
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30.
In the above figure ,BC=acm,AB =ccm, and

AD =b cm .Find EC.

° View Text Solution

Test Your Concepts Short Answer Type Question



https://dl.doubtnut.com/l/_Y4nBOPRHDNyN
https://dl.doubtnut.com/l/_SW0aa0MuGxOL

1. A spherical piece of metal of diameter 6 cm
is drawn into a wire of 4 mm in diameter. Find

the length of the wire.

o Watch Video Solution

2. Find the area of a right triangle whose
hypotenuse is 17 cm and one of the sides

which forms a right angle is 8 cm .

o Watch Video Solution



https://dl.doubtnut.com/l/_SW0aa0MuGxOL
https://dl.doubtnut.com/l/_eSSKCzHqGUX4
https://dl.doubtnut.com/l/_ZGx4N02CwtlC

3.A cow is tied to a pole fixed at one corner of
a square field of grass , whose side is 40 m . If
the length of the rope with which the cow is
tied is 14 m , then what is the area in which

the cow can graze ?

o Watch Video Solution

4. In a circular ground of radius 112 m , a
racetrack is in the form of a ring . The width of
the racetrack is in the form of a ring . The

width of the racetrack is in the form of a ring .


https://dl.doubtnut.com/l/_ZGx4N02CwtlC
https://dl.doubtnut.com/l/_8XzPrpZ1EKSW

The width of the racetrack is 14 cm . If the
circumference of the circle and the outer ring
of the racetrack are the same , then what is

the area of the racetrack ?

° View Text Solution

5. A cube of the edge length of 1 m is cut into
small cubes of side 10 cm each , then how

many such small cubes can be obtained ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8XzPrpZ1EKSW
https://dl.doubtnut.com/l/_tZeMe1r4tkzY
https://dl.doubtnut.com/l/_JzbCM6FetgRt

6. What is the length of the longest needle
that can be accommodated in a rectangular
box , if its dimensions being 20 cm X 5 cm

X 4cm?

o Watch Video Solution

7. The outer and inner surfaces areas of a
hemispherical bowl are
1152rem® and 648mem?® |, respectively What

is the total surface area of the bowl ?


https://dl.doubtnut.com/l/_JzbCM6FetgRt
https://dl.doubtnut.com/l/_fvXG596jf8LE

A. 20527 cm?

B. 23627 cm?

C. 2325mem?

D. 20007rcm?

Answer: A

o Watch Video Solution

8. The ratio of the volumes of two cubes is

729:1331 What is the ratio of their total

surface areas?


https://dl.doubtnut.com/l/_fvXG596jf8LE
https://dl.doubtnut.com/l/_RMqg61Sqgffd

° Watch Video Solution

9. There is a playground measuring 50 m X
30 m . In one corner of the ground , a pit of
dimensions4m X 3m X 1mis dug and the
mud is spread all over the ground uniformly
What is the approximate height of the layer of

mud spread ?

o Watch Video Solution



https://dl.doubtnut.com/l/_RMqg61Sqgffd
https://dl.doubtnut.com/l/_lyTQpLnY2Ang

10. The radii of the base as well as the heights
of a cone and a cylinder are each equal to h
and the radius of a hemisphere is also equal
to h . Find the ratio of the volume of cylinder,

hemisphere , and cone.

o Watch Video Solution

1. What is the length of a cuboid having

breadth and height equal to 4 cm and 6 cm


https://dl.doubtnut.com/l/_YHptnPaqBfxq
https://dl.doubtnut.com/l/_WGmcLgZbbwx3

respectively , and the total surface area of

148¢cm? ?

° Watch Video Solution

12. How many cubes having edge of 4 inches
each can be cut from a cube having edge of 12

inches ?

° Watch Video Solution



https://dl.doubtnut.com/l/_WGmcLgZbbwx3
https://dl.doubtnut.com/l/_x9PkfWjIJIWn

13. Find the area of a regular hexagon of side 6

am.

o Watch Video Solution

14. The volume of a sphere of diameter 42 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_mgu43e1wyltu
https://dl.doubtnut.com/l/_GnbgVtQIdofp

15. A sector of central angle 120° and a radius
of 21 cm were made into a cone . Find the

height of the cone (in cm).

o Watch Video Solution

Test Your Concepts Eassy Type Question

1. A conical tent is 48 m high and the diameter

of its base is 28 m. The cost of the canvas


https://dl.doubtnut.com/l/_tgJ6HQJDbGoK
https://dl.doubtnut.com/l/_MS70IVFpo6BT

required to make the tent at the rate of Rs 50

per square metre is

° Watch Video Solution

2. From a square metal sheet of side 5 cm ,

three circular plates of radii Ecm ,1cm, and

1
15 cm are cut . If the area of the remainning

part is equal to the area of a circle , then the

area of that circle ( in sz) IS

° Watch Video Solution



https://dl.doubtnut.com/l/_MS70IVFpo6BT
https://dl.doubtnut.com/l/_qk9GSt5IHJYZ
https://dl.doubtnut.com/l/_kmAL739azBeA

3. In the figure given below, the area of the

shaded region is 44cm?. O is the centre of the

semi-circle, OE 1. OD and OC L AB. The
area of the region POQR (in em?) if

OF = Tcm is

° Watch Video Solution



https://dl.doubtnut.com/l/_kmAL739azBeA

«— 9 ¢cm —

U g

- 15 cm

¥

4,

In the above figure , a solid consisting of a
cylinder surmounted by a cone at one end and
a hemisphere at the other . Find the volume of

the solid .

o Watch Video Solution



https://dl.doubtnut.com/l/_TUKkEPn6mJDC

5. A hollow sphere which has internal and
exter-nal diameters as 14 cm and 16 cm
respectively is melted and recast into a cone
with a height of 16 cm. Find the diameter of

the base.

o Watch Video Solution

Concept Application Level 1


https://dl.doubtnut.com/l/_SXkeQu8MKfoY

1. In a scalene triangle ,one side exceeds the
other two sides by 4 cm and 5 cm, respectively

, and the perimeter of the triangle is 36 cm

Find the area of the triangle in cm? .

A. 63
B.9,/10

C.18,/10

D.12+/21

Answer: D

‘ o Wiak lh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_UTs9pXawM8vY

VVCILLIL VI INAGINIE ] J

2. The numerical value of product of the sides
of a triangle is 512 units . Find the minimum
possible perimeter of the triangle ( in units ).
A.18
B.24

C.30

D. 22

Answer: B

| s |


https://dl.doubtnut.com/l/_UTs9pXawM8vY
https://dl.doubtnut.com/l/_VCg0RF5hy9oG

| ¥ Watch Video Solution ]

3. Find the area of a square if the sum of the
diagonals is 100 cm .

A. 1004/2cm?

B. 1250cm”

C. 125¢m?

D. 5000cm?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VCg0RF5hy9oG
https://dl.doubtnut.com/l/_bMDhHjUvDJw9

4. Each side of a triangle is multiplied with the
sum of the squares of the other two sides. The
sum of all such possible results is 6 times the
product of the sides. The triangle must be

A. Equilateral

B. Isosceles

C. Scalene

D. Right-angled

Answer: A


https://dl.doubtnut.com/l/_bMDhHjUvDJw9
https://dl.doubtnut.com/l/_gJVq1B5GwPRP

o Watch Video Solution

5. A square and a rectangle each have a

perimeter of 40m. The difference between

areas of the two figures is 9m2. What are the

possible dimensions of the rectangle?

A.13m,7m

B.14 m,6m

C.108 m,Tm

D.15m,5m


https://dl.doubtnut.com/l/_gJVq1B5GwPRP
https://dl.doubtnut.com/l/_gFTLVN3D1UTB

Answer: A

o Watch Video Solution

6. There is a playground measuring 50 m X

30 m . In one corner of the ground , a pit of
dimesions 5m X 4 m X 1mis dug and the
mud is spread all over the ground uniformly .
What is the approximate height of the layer of

mud spread ?

A.7 mm


https://dl.doubtnut.com/l/_gFTLVN3D1UTB
https://dl.doubtnut.com/l/_RzODCtP552oH

B.8 mm

C.14 mm

D.10 mm

Answer: C

o Watch Video Solution

7. The area of a square is 225m? . The
perimeter of the square is 10 m less than the

perimeter of the rectangle and breadth of the


https://dl.doubtnut.com/l/_RzODCtP552oH
https://dl.doubtnut.com/l/_c43s1B5cAxtP

rectangle is 15 m. Find the area of the

rectangle in m? .

A.150

B. 350

C.300

D.75

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_c43s1B5cAxtP

8. In a parallelogram ABCD , AB=6 cm ,BC =5

cm , and AC= 7 cm . Find the perpendicular
distance between AB and CD.

A.6,/6 cm

B. 12,/6cm

C.5am

D.2,/6 cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6GgUFUroTtM3

9. Two goats are tied to two adjacent corners
of a square plot side 28 m with ropes each 14

m long . Find the area not grazed by the goats

in the plot in m?

A. 168

B.476

C.376

D. 238

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_ZXzmusbUKIIK

10. The circumference of a circle is equal to the
sum of the perimeters of an equilateral

triangle of side 12 cm and a square of diagonal

24/2 cm . Find the area of the circle in cm?

A. 44
B. 144
C. 154

D. 156


https://dl.doubtnut.com/l/_ZXzmusbUKIIK
https://dl.doubtnut.com/l/_0MTnlwjDIoA4

Answer: C

o Watch Video Solution

11. If the diameter of a circle is increased by
200 % , then by what per cent has its
circumference increased ?

A1l

B.0.5

C.2

D.15


https://dl.doubtnut.com/l/_0MTnlwjDIoA4
https://dl.doubtnut.com/l/_YQ7rbjp2af8S

Answer: C

o Watch Video Solution

12. A horse is tied to a pole fixed at one corner
of a 14 m X 14 m square field of grass by
means of a rope 7 m long . Find the area of the

square field within which the horse can graze.

A. TTm?

B. 196m2

C. 28m>


https://dl.doubtnut.com/l/_YQ7rbjp2af8S
https://dl.doubtnut.com/l/_ygEkVcoMlj6u

D. 38.5m>

Answer: D

° Watch Video Solution

13. The area of a ring is 16.94cm? and the area
of the outer circle is 55.44cm? Find the
perimeter of the inner circle .

A. 22 cm

B.26.4 cm


https://dl.doubtnut.com/l/_ygEkVcoMlj6u
https://dl.doubtnut.com/l/_jBXGz0ngJ1pZ

C.38.5 cm

D. 29.04 cm

Answer: A

o Watch Video Solution

14. The sum of the radius of the base of a solid
cylinder and the height of the cylinder is 15 cm
. If the total surface area of the cylinder is

660cm? , then find the volume of the cylinder .


https://dl.doubtnut.com/l/_jBXGz0ngJ1pZ
https://dl.doubtnut.com/l/_ccA4ZHnWpvKp

A. 1232cm?

B. 1256¢cm’°

C. 1296¢cm?

D. 1276cm?

Answer: A

o Watch Video Solution

15. If each edge of a cube is increased by 5 cm ,
then the lateral surface area of the cube

increases by


https://dl.doubtnut.com/l/_ccA4ZHnWpvKp
https://dl.doubtnut.com/l/_jKUi18Bf2cQK

A. 100em?

B. 150cm >

C. 50cm?

D. Cannot be determined

Answer: D

o Watch Video Solution

16. The perimeter of a square and the

circumferenceof a circle are equal. If the radius


https://dl.doubtnut.com/l/_jKUi18Bf2cQK
https://dl.doubtnut.com/l/_Kkr9rbs7YjAE

of the circle isr and side of the square is S,

then the area of thecircle in terms of S is

A. 452

B.16S?

452
C. —
T

1652

U

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Kkr9rbs7YjAE

17. The area (in em?) of a sector of a circle with

an angle of 45° and radius 3 cm is

A413
14

836
T

C351
56

D315
28

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8FMRpkoC3Wsf
https://dl.doubtnut.com/l/_DWVHMgl1L9Rm

18. In the figure below, O is the centre of the
circleand OABC is a square. P and Q are the
midpointsof OC and OA respectively. The area
of the square(in em?), if the area of the
shaded part is 38.5¢cm? is

A. 49

B. 81

C.144

D. 196

Answer: C

| s ]


https://dl.doubtnut.com/l/_DWVHMgl1L9Rm

| ¥ Watch Video Solution ]

19. Find the area ( incmz) of a rhombus
whose side is 17 cm and one of its diagonals is
30 cm.

A. 510

B. 600

C.240

D. 350

Answer: C



https://dl.doubtnut.com/l/_DWVHMgl1L9Rm
https://dl.doubtnut.com/l/_uJr4vc3fbCtm

\ o Watch Video Solution

20. The areas of a square and a circle are

equal. The radius of the circle is r and the side

of the square is S.Find the circumference of

the circle in terms of S.

AS

B. 2S

C.3S

D. 4S


https://dl.doubtnut.com/l/_uJr4vc3fbCtm
https://dl.doubtnut.com/l/_gKa0aZaYgaKG

Answer: A

o Watch Video Solution

21.Find the area of a sector of a circle with an

angle of 60° and radius 7 cm ( in sz)

A71
3

B252
3

c222
3

D. 14—


https://dl.doubtnut.com/l/_gKa0aZaYgaKG
https://dl.doubtnut.com/l/_oxOimMXLZIyR

Answer: B

o Watch Video Solution

22. Find the volume ( in cm3) of a sphere
which is exactly inserted inside a cube of side
6cm.

A 288 7

B. 1447

C.64,/37

D. 367


https://dl.doubtnut.com/l/_oxOimMXLZIyR
https://dl.doubtnut.com/l/_jM1Vmv1QU8mt

Answer: D

o Watch Video Solution

23. The volume of a cuboid is 3840cm? and the
length of the cuboid is 20cm. If the ratio of
its breadth and its height is 4:3, then the
total surface area of the cuboid is

A. 752cm?

B. 1442¢m?

C. 1208¢cm>


https://dl.doubtnut.com/l/_jM1Vmv1QU8mt
https://dl.doubtnut.com/l/_ZiscFrB4IE7E

D. 1504cm?

Answer: D

o Watch Video Solution

24. The surface area of a sphere is 100mem? .

Find its volume.

A. —mem

3

350
B. —mem

3

500 3
C. —mem

3


https://dl.doubtnut.com/l/_ZiscFrB4IE7E
https://dl.doubtnut.com/l/_MbseNUNij2Vq

400
D. —mem

Answer: C

° Watch Video Solution

25. The total surface area of a cuboid is
392cm? and the length of the cuboid is 12 cm.
If the ratio of its breadth and its height is 8: 5,

then what is the volume of the cuboid?

A. 480cm?®


https://dl.doubtnut.com/l/_MbseNUNij2Vq
https://dl.doubtnut.com/l/_lagQXYe714YP

B. 1920cm?

C. 3840cm?

D. 20cm?®

Answer: A

o Watch Video Solution

26. The area of the base of a right prism whose
base is an equilateral triangle is 9\/§cm2 If
the height of the prism is 12 cm , then what is

its lateral surface area ?


https://dl.doubtnut.com/l/_lagQXYe714YP
https://dl.doubtnut.com/l/_gPPIZBMHJhAT

A. 212¢m?

B. 21cm?

C.216cm?

D. 222¢m?

Answer: C

o Watch Video Solution

27.1n a rectangular field, the difference of two

adjacent sides is 5 m and the length of


https://dl.doubtnut.com/l/_gPPIZBMHJhAT
https://dl.doubtnut.com/l/_AYMjGyNAnfPb

diagonal is 25 m.Then, find the cost of fencing

it at the rate of Rs 4 per metre

A.Rs 360

B.Rs 140

C. Rs 280

D. Rs 200

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AYMjGyNAnfPb

28. Find the area of an equilateral triangle
whose height is 1/48 cm . The following steps
are involved in solving the above problem .
Arrange them in sequential order .

Area of the equilateral triangle

3 _
— % X 64 = 16\/3cm2

Let the side of the equilateral triangle be a cm

V3a

2

*. Height of the equilateral triangle =

*. Area of an equilateral triangle whose side


https://dl.doubtnut.com/l/_r5IirXcLsNzi

. V3 o _ V3 ey
isacm=——a :TX(S) (.- a = 8cm)

48 = a = 8cm

Given

A. BDCA

B. ABCD

C. BDAC

D. DBCA

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_r5IirXcLsNzi

29. Find the sum of the lengths of the edges of
a prism whose base is a trianglee with sides 3
cm , 4 cm ,and 5 cm , and height 10 cm . The
following steps are involved in solving the
above problem . Arrange them in sequential
order .

(A) The sum of the lengths of the edges of a
prism = 2 ( the perimeter of base ) + number of
sides of the base x the height of the prism
=24+3x10

(B) The perimeter of the base =(3 + 4 + 5) cm

=12 cm and the number of sides of the base is


https://dl.doubtnut.com/l/_qaPLnJnsum0n

(C) ... The sum of the lengths of the edges of

aprien=24 + 30 = 54 cm.

A. ABC

B. ACB

C. BAC

D. BCA

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_qaPLnJnsum0n
https://dl.doubtnut.com/l/_N5nVfD4aEkpd

30. Volume of a cone is V cu. Cm and its base
radius is r cm . Find its curved surface area .
The following steps are involved in solving the

above problem . Arrangethem in order .

3V

(A) The height of cone ,h = —
r

(B) Volume of a cone , —mr*h = V and base
radius =r
(C) .. Curved surface area of the cone = 7rl

The slant height of the cone I = v/h? + r*

A. ABDC

B. BADC


https://dl.doubtnut.com/l/_N5nVfD4aEkpd

C. BCDA

D. BDAC

Answer: B

° View Text Solution

Concept Application Level 2

1. A conical tent is 48 m high and the diameter

of its base is 28 m . The cost of the convas


https://dl.doubtnut.com/l/_N5nVfD4aEkpd
https://dl.doubtnut.com/l/_pQYdThbghphs

required to make the tent at the rate of Rs 50

per square metre is

A.Rs 110, 000

B.Rs 105, 600

C.Rs 11, 000

D.Rs 127, 400

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pQYdThbghphs

2. The volume of a cube which can be
insertedexactly in a sphere of radius E\/gcm
IS

A. 24cm?®

B. 27cm?®

C. 18¢cm?

D. 22¢m?®

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YBR7zLVSP302

3. The cost of painting the total outside

2

surface of a closed cylinder at Rs 3 per cm” is

Rs 2772. If the height of the cylinder is 2 times
the radius , then find its volume .

A. 34, 312cm?

B. 3342cm’

C. 2154cm?

D. 2156¢cm°

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_WdmpYWRoHLgx

4. If the base radius of a cone is doubled and

its height is halved , then which of the

following is true regarding its volume ?

A. Increases by 200 %

B. Decreases by 200 %

C. Increases by 100 %

D. Decreases by 100 %

Answer: A

| s ]


https://dl.doubtnut.com/l/_WdmpYWRoHLgx
https://dl.doubtnut.com/l/_W8ti7xaLkevS

| ¥ Watch Video Solution ]

5. A metallic sphere of radius 12 cm is melted

and cast into a cone whose base radius is 16

cm . What is the height of the cone ?

A. 27 cm

B.18 cm

C.90 cm

D. 270 cm

Answer: A



https://dl.doubtnut.com/l/_W8ti7xaLkevS
https://dl.doubtnut.com/l/_ZWKVrl48Uhli

\ o Watch Video Solution

6. A solid metallic cone of radius 10 cm and
height Fm is melted and recast into a sphere.

Find theradius of the sphere.

A.10,/10cm

w |~

B.(10)3cm
C.10 cm

D.8 cm

Answer: C


https://dl.doubtnut.com/l/_ZWKVrl48Uhli
https://dl.doubtnut.com/l/_yEKYpAS3MmCB

° Watch Video Solution

7. The width of a ring is 6 cm and the area of
the inner circle is 616ecm?> . Find the

circumference of the outer circle.

A. 88 cm

880
B. — cm

264
C.—am

8800
D.

cm

Answer: B


https://dl.doubtnut.com/l/_yEKYpAS3MmCB
https://dl.doubtnut.com/l/_P7cHTWWdSvQY

° Watch Video Solution

8. What is the difference between the total

surface area and curved surface area of a

cylinder whose radius is equal to 10 cm ?

A. 200 em?

B. 3007mcm?

C. 100rem?

D. 10mem?

Answer: A


https://dl.doubtnut.com/l/_P7cHTWWdSvQY
https://dl.doubtnut.com/l/_dd2iApdv4J4Y

° Watch Video Solution

9. A solid metal sphere is cut through its

centre into two equal parts . Find the total

surface area of each part if the radius of the

sphere is 7 cm.

A. 462cm

B. 231cm?

C. 308¢cm?

D. 115.5¢cm?


https://dl.doubtnut.com/l/_dd2iApdv4J4Y
https://dl.doubtnut.com/l/_yJZzfBUbcNjy

Answer: A

o Watch Video Solution

10. The magnitude of surface area of sphere is

half the magnitude of the volume of the

sphere . Find the diameter of the sphere..

A. 3 units

B. 6 units

C. 12 units

D. 18 units


https://dl.doubtnut.com/l/_yJZzfBUbcNjy
https://dl.doubtnut.com/l/_E23ltpt3r3L3

Answer: C

o Watch Video Solution

1. A toy is in the shape of the cone over a
hemisphere of radius 8 cm. If the total height
of the toy is 14 cm, then what is the total

surface area of the toy.

2596
7cm

4576
7

o 2967
T



https://dl.doubtnut.com/l/_E23ltpt3r3L3
https://dl.doubtnut.com/l/_WhlheZBmYWUf

4567
cm

Answer: B

° Watch Video Solution

12. A conical tent is 12 m high and the radius of
its base is 9 m . What is the cost of canvas
required to make the tent , if the cost of 1m?

canvas is Rs 14 ?

A.Rs 5940


https://dl.doubtnut.com/l/_WhlheZBmYWUf
https://dl.doubtnut.com/l/_nzVSabNtPVhR

B.Rs 4752

C.Rs 5840

D. Rs 4653

Answer: A

o Watch Video Solution

13. A metal cuboid of dimensions 499 m, 22 m,
and 14 m is melted and cast into cubes such

that the side of each cube is equal to the half


https://dl.doubtnut.com/l/_nzVSabNtPVhR
https://dl.doubtnut.com/l/_PtK27JuFho4o

of the height of each cuboid . The number of

cubes , thus , formed is

A. 88

B.44

C. 22

D. 110

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_PtK27JuFho4o

14. Area of a circular park is P m? A path of
width W m is laid around and outside the park
. Find the area of the path .

The following steps are involved in solving the
above problem . Arrange them in sequential

order.

P
(A) Radius of the outer circle, R = - + W

(B) Area of the park arl = P

(C) Area of the path = TR? — mr?

P
(D )Radius of the park,r = —


https://dl.doubtnut.com/l/_N1AGddCpnIMc

(E ) Area of

A. BACDE

B. BADCE

C. BCADE

D. BDACE

Answer: D

the

path

° View Text Solution



https://dl.doubtnut.com/l/_N1AGddCpnIMc

15. Area of rhombus is 96cm? and one of its
diagonals is 12 cm . Find the side of the
rhombus .

The following steps are involved in solving the
above problem . Arrange them in sequential
order .

(A) Let PQRS be a rhombus ,PR = 12 cm , and
the diagonals PR and QS intersect at T.

(B) Area of the rhombus =
% X PR X QR = 96

(C) = QS = 16cm

(D ) PTQ is a right triangle and


https://dl.doubtnut.com/l/_xg4BOu7m9QxT

PQ’ = 6° + 8 = PQ = 10cm .

S
(E)PT=? = 6cm and QT = QT — 8 cm

A. ABCDE
B. ABECD
C. ABCED

D. ACEBD

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xg4BOu7m9QxT

16. Area of a trapezium is 1050cm?. One of its
parallel sides is 50 cm and the distance
betweeen the parallel sides is 30 cm . Find the
length of the other parallel side (in cm).

A 24

B. 20

C.15

D. 26

Answer: B

‘ ° Wiadk lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_foFVmEjj6wTC

VVCILLIL VI INAGINI L] J)

17. How many solid lead balls of diameter 4 cm

each can be made from a solid lead ball of

radius 8 cm ?

A. 64

B.32

C.8

D. 26

Answer: A

| s |


https://dl.doubtnut.com/l/_foFVmEjj6wTC
https://dl.doubtnut.com/l/_jDHV7XiRzhuq

| ¥ Watch Video Solution ]

18.If the length of each of a cube increases by

20%, then the volume of the cube increases by

A. 0.64

B.0.8

C.14.4%

D.72.8 %

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jDHV7XiRzhuq
https://dl.doubtnut.com/l/_jtyVAHrwYgnu

19. A cuboid has a total surface area of 96cm>.

TheMsum of the squares of its length, breadth

and height(in cm) is 48. Find its height (in cm).

A3

B.4

C.5

D.6

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_jtyVAHrwYgnu
https://dl.doubtnut.com/l/_ciHvuSi4qlWS

20. The angle substended by an arc at the
centre of a circle is 70° . If the circumference
of the circle is 132 cm , then find the area of

the sector formed .

A. 269.5¢m>

B. 1078¢cm?

C. 539¢cm?

D. 1617cm?


https://dl.doubtnut.com/l/_ciHvuSi4qlWS
https://dl.doubtnut.com/l/_FnPsPsnkGMiS

Answer: A

o Watch Video Solution

21. At the most , how many cakes of soap
dimensions 8 cm X 6 cm X 4 cm can be
placed in a wooden box of inner measures 28
cm X 16cm X 12cm?

A. 35

B. 24

C. 28


https://dl.doubtnut.com/l/_FnPsPsnkGMiS
https://dl.doubtnut.com/l/_J5hMmTnSRZ4O

D. 36

Answer: C

o Watch Video Solution

22.If the dimensions of a cuboid decreases by

10% each, then its volume decreases by

A.03

B.27.1 %

C.10%


https://dl.doubtnut.com/l/_J5hMmTnSRZ4O
https://dl.doubtnut.com/l/_8K2Bfpi5LpAh

D. 26.4 %

Answer: B

o Watch Video Solution

Concept Application Level 3

1. Find the slant height of the largest possible

cone that can be inserted in a hemisphere of

volume 144mem?


https://dl.doubtnut.com/l/_8K2Bfpi5LpAh
https://dl.doubtnut.com/l/_ZegIaPHTMVsQ

A. 94/2cm
B. 121/2cm
C.64/2cm

D. 74/2cm

Answer: C

o Watch Video Solution

2.In the figure given below , O is the centre of
the circle and OPQR is a rectangle . A is a

1
point on PO such that AO = 3 PO and B is


https://dl.doubtnut.com/l/_ZegIaPHTMVsQ
https://dl.doubtnut.com/l/_8q4RHm0OdeYh

the midpoint of OR . Find the area of the
shaded region if PA = 8 cmand BR = 4 cm

(usem = 3.14)

A. 132.68cm>

B. 121.12cm?

C. 108.56 cm

D. 116.44cm?


https://dl.doubtnut.com/l/_8q4RHm0OdeYh

Answer: B

o Watch Video Solution

3. A hollow sphere which has internal and
exter-nal diameters as 14 cm and 16 cm
respectively is melted and recast into a cone
with a height of 16 cm. Find the diameter of

the base.

A. 6.5 cm

B.13 cm


https://dl.doubtnut.com/l/_8q4RHm0OdeYh
https://dl.doubtnut.com/l/_I6QdKqVBUkmV

C.26 cm

D.10 cm

Answer: B

o Watch Video Solution

4. A fountain pen with a cylindrical barrel of
diameter2 cm and height 10.5 cm, filled with
ink, can write 3300 words. How many words
can be written withthat pen using 100 ml of

ink? (Take 1 cc =1ml)


https://dl.doubtnut.com/l/_I6QdKqVBUkmV
https://dl.doubtnut.com/l/_o8zbJ4EPEOFf

A. 40, 000

B. 30, 000

C. 20, 000

D. 10, 000

Answer: D

o Watch Video Solution

5. From a solid cube of side 6 feet, a square

holeof side 2 feet is punched through between


https://dl.doubtnut.com/l/_o8zbJ4EPEOFf
https://dl.doubtnut.com/l/_jt1g5DmcwQqP

a pairof opposite faces. The volume (in cu.feet)

of theremaining solid is

A. 20

B. 144

C.192

D. 240

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jt1g5DmcwQqP

6. The radius and slant height of a cone are in
the ration 8:17 .If its curved surface area is
544cm? , then find its volume .

A. 2560rem®

B. 4800mcm?®

C. 3468mcem?®

D. 42067mcm®

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_jXEhZGGWUsXz

7. Find the number of coins , 3 cm in diameter
and 1 cm thickness to be melted to form a
right -circular cylinder of height 10 cm and

diameter 9cm.

A. 90

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_ByPZ4VW22oUL

8. The sides of a triangle are 45 cm , 60 cm ,
and 75 cm . Find the length of the altitude
drawn to the longest side from its opposite
vertex (in cm) .

A. 27

B. 21

C.39

D. 36


https://dl.doubtnut.com/l/_ByPZ4VW22oUL
https://dl.doubtnut.com/l/_opssgnPyRisM

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_opssgnPyRisM

